

Lead • Partner • Innovate • Excel

June 2, 2023

To: Vendors for Cafeteria Commodity Processing IFB 23-04-010

RE: Bid Results

The following bid analysis sheets show the prices that were bid for Cafeteria Commodity Processing for Madison-Oneida BOCES and its participating districts. This bid was awarded on a line-by-line basis as highlighted in green. Items highlighted in red have been disqualified.

This bid was approved by the Madison-Oneida BOCES Board of Education at their monthly meeting on June 1, 2023.

This letter does not constitute an order. Receipt of a valid school district purchase order will be notification of an order.

Thank you for your continued support and participation in our bidding program.

Sincerely,

Madison-Oneida BOCES Cooperative Bidding Service

Chui Spratie

# Bids Were Received From the Following Vendors For Cafeteria Commodity Processing IFB 23-04-010:

## Nardone Bros. Baking Company, Inc.

Attention: Vincent J. Nardone 420 New Commerce Blvd. Hanover Township, PA 18706

Phone: 570-823-0141 Fax: 570-823-2581

Email: Vincent.nardone@nardonebros.com

Website: www.nardonebros.com

Details: Please Reference Madison-Oneida BOCES IFB 23-04-010 on Purchase Order

Districts Bid On: All Districts

#### Renzi Foodservice

Attention: Nichole Roy

901 Rail Drive

Watertown, NY 13601 Phone: 315-788-5610 Fax: 315-788-9097 Email: nikkiroy@renzi.net

Website: www.renzifoodservice.com

Details: Please Reference Madison-Oneida BOCES IFB 23-04-010 on Purchase Order

Districts Bid On: All Districts

## Cafeteria Commodity Processing IFB 23-04-010 Opened April 11, 2023 at 3:00 PM Summary Contract Effective July 1, 2023 - June 30, 2024

Item #	Item Specification	Quantity in Cases	Manufacturer	Vendor Item #	Package Size	Price Bid	Unit of Measure	Unit	Unit Price	Vendor
6504	Gilardi - Three Cheese Calzone	120	ConAgra Gilardi	80163	60/4.69oz	\$79.63	Ounce	281	\$0.2830	Renzi Foodservice
6505	Gilardi - Pepperoni Calzone	90	ConAgra Gilardi	80172	60/4.69oz	\$72.00	Ounce	281	\$0.2559	Renzi Foodservice
6506	The Max Stuffed Crust Pizza	350	ConAgra The Max	80075	72/4.84oz	\$62.09	Ounce	348	\$0.1782	Renzi Foodservice
			Nardone Bros.		70/4.95 oz portions/cse	\$40.67	Ounce	347	\$0.1174	Nardone Bros.
6507	Jennie O Pre-cooked breast-thigh roast	75	Jennie-O	52049	4/10#avg (priced per	\$5.01	Pound	1	\$5.0100	Baking Co., Inc. Renzi Foodservice
6508	Jennie O Natural Choise premium tender deli breast	45	Jennie-O	54118	pound) 2/8#avg (priced per	\$6.44	Pound	1	\$6.4400	Renzi Foodservice
6509	Land O Lakes Shredded Mozzarella Cheese	75	LOL	25070	pound) 4/5#	\$62.97	Pound	20	\$3.1485	Renzi Foodservice
6545	Pilgrims Pride WG Homestyle Breaded Chicken Strip	30	Goldkist	95141	30#	\$89.18	Pound	30	\$2.9727	Renzi Foodservice
6541	Pilgrim's Pride Corp - CN WHLGRN BRD DRK MT SMCKR 6/5# FC	60	Goldkist	95153	30#	\$99.17	Pound	30	\$3.3056	Renzi Foodservice
6546	Pilgrims Pride CN Homestyle WG Chicken Nuggets w/ISP	120	Goldkist	95100	6/5#	\$89.95	Pound	30	\$2.9985	Renzi Foodservice
6547	Pilgrims Pride FC CN Homestyle WG Chicken Patty w/ISP	15	Goldkist	95143	30#	\$89.27	Pound	30	\$2.9758	Renzi Foodservice
6548	Pilgrims Pride Whole Muscle WG Breaded Chicken Bites	68	Goldkist	95152	6/5#	\$125.73	Pound	30	\$4.1911	Renzi Foodservice
6513	Red Gold - Nutritional enhanced LS Salsa	45	Red Gold	57061	6/#10	\$46.97	Each	6	\$7.8283	Renzi Foodservice
6514	Red Gold - Low Sodium Ketchup #10 cans	125	Red Gold	57184	6/#10	\$43.44	Each	6	\$7.2400	Renzi Foodservice
6515	Red Gold - Low Sodium Ketchup 9 gram foil packets	50	Red Gold	59087	1000/9gm	\$29.56	Gram	9000	\$0.0033	Renzi Foodservice
6516	Red Pack - Low Sodium Pizza Sauce	125	Red Gold	57066	6/#10	\$47.20	Each	6	\$7.8667	Renzi Foodservice
6517	Red Pack - Low Sodium Marinara Sauce	125	Red Gold	57033	6/#10	\$48.23	Each	6	\$8.0383	Renzi Foodservice
6526	Land O Lakes String Cheese	125	LOL	25102	168/1oz	\$42.84	Ounce	168	\$0.2550	Renzi Foodservice
6527	Red Gold - BBQ Sauce Cups - 1 oz	75	Red Gold	57100	250/1oz	\$42.11	Ounce	250	\$0.1684	Renzi Foodservice
6549	Rich Chicks WG Breaded Chicken Breast Chunks/Boneless Wings	100	Rich Chicks	95165	4/5#	\$101.84	Pound	20	\$5.0922	Renzi Foodservice
6550	Rich Chickes WG Breaded Chicken Breast Strips - CL	100	Rich Chicks	95163	4/5#	\$95.18	Pound	20	\$4.7589	Renzi Foodservice
6551	Rich Chickes FC WG CL Dark Chicken Popper	120	Rich Chicks	95164	4/5#	\$102.54	Pound	20	\$5.1272	Renzi Foodservice
6531	SA Piazza, Wild Mike's Cheese Bites	350	SA Piazza	46080	240/1oz	\$75.93	Ounce	240	\$0.3164	Renzi Foodservice

### Cafeteria Commodity Processing IFB 23-04-010 Opened April 11, 2023 at 3:00 PM Summary Contract Effective July 1, 2023 - June 30, 2024

Item #	Item Specification	Quantity in Cases	Manufacturer	Vendor Item #	Package Size	Price Bid	Unit of Measure	Unit	Unit Price	Vendor
6533	Schwan's Breakfast Pizza	175	Schwan's	80132	128/3.31oz	\$67.66	Ounce	424	\$0.1597	Renzi Foodservice
			Nardone Bros.		80/3.63 oz portions/cse	\$34.89	Ounce	290	\$0.1201	Nardone Bros. Baking Co., Inc.
6543	Schwan's Fiestada WG Pizza	60	Schwan's	79986	72/5.44oz	\$69.94	Ounce	392	\$0.1786	Renzi Foodservice
			Nardone Bros.		96/5.20 oz portions/cse	\$63.53	Ounce	499	\$0.1273	Nardone Bros. Baking Co., Inc.
6534	CAINS - Light Ranch Dressing	35	Cains	56297	4/1gal - Cains is no Ionger NOI PTV Eligible	\$57.96	Gallon	4	\$14.4912	Renzi Foodservice
6535	CAINS - Extra Heavy Mayonnaise	70	Cains	56206	4/1gal - Cains is no longer NOI PTV Eligible	\$67.91	Gallon	4	\$16.9769	Renzi Foodservice
6536	CAINS - Ranch Dressing PC	125	Cains	57409	100/1oz Cains in no longer NOI PTV Eligible	\$23.92	Ounce	100	\$0.2392	Renzi Foodservice
6538	McCain Ore-Ida 1/2" Oven Ready Crinkle Cut	225	McCain	46108	6/5#	\$47.75	Pound	30	\$1.5917	Renzi Foodservice